Geometry Homework #21

1) Given: 4B 1 AD,CD 1 DA, AB=DC, AC and DB intersect at point E
Prove: BE =CE
2) If the equation of a circle is (x —6)° +(y —7)> =121, determine its diameter and center.
3) Given: ADPBC, ABPDC
Prove: ZABC = /CDA
(x+12)° N (y+9)°
169 49

4) If the equation of an ellipse is =1, determine the center and the length of

the minor and major axes.

5) Given: ACFB, ABPCD, FC 1 AB, GE L CB, point G is between A and B, point E is between C
and B, point E is between G and D, point A is between F and C, E is the midpoint of CB,
AG=GE
Prove: CD=FG

6) Given: A4BD and ACBD, ADPBC. AB isnot congruent to CD, AC and BD do not intersect
Prove: BC is not congruent to DA

7) Given: AABC and ACDA, Point E is between A and C, point E is between B and D, AC and BD
intersect at point E, ZACB is not congruent to ZDAC
Prove: ZADB is not congruent to ZCBD

8) Given: ABDC, point B is between A and C, BC = BD, 4B is not congruent to BD
Prove: B is not the midpoint of 4C

9) Given: AABF, AFAE, BF intersects AE at G, AFGA= ABGE , BA is not congruent to FE
Prove: ZABG is not congruent to ZEFG

10) Given: AABC, Z/BAC = ZFBA, point D is between A and C, BD is not a median of A4BC
Prove: BD is not an altitude of AUBC

11) Given: A4GD with medians AE,DB, and GF which all intersect at point C, ZGCE = ZECD,
FC is not congruent to BC
Prove: ZBAC is not congruent to ZFAC

12) Given: AC is aradius and ADis a chord of circle C, point C is the midpoint of DB, point C is
between A and E, 4B is not congruent to £D
Prove: ZABC is not congruent to ZEDC

13) Given: Point C is between B and D, point C is between A and E, EC = AC,

AB is not congruent to DE
Prove: ZB is not congruent to ZD

14) Given: ADPBC, AC and BD intersect at point E, DC is not congruent to BA
Prove: BC is not congruent to DA

15) Given: Points F, A, C, and E are all on the same line, C is between D and G, A is between
F and E, B is between F and G, A is between B and H, C is between A and E, 4B PCD,

CE = AF, AB=CD, ED is not perpendicular to CD
Prove: FB is not perpendicular to 4B




16) Given: Point F is between A and B, point E is between B and C, FC and AE intersect at
point D, 4= ./C, LFDB= £ZEDB, FB is not congruent to £EB
Prove: 4D is not congruent to CD

17) Given: A4BF, ADBC, AEDF , point D is the midpoint of B and F, point D is between C and E,
E is between A and F, 4E =CB, AE is not congruent to EF
Prove: CD is not congruent to ED

18) Given: AABC, AEFD, EF PAC, point F is between C and B, point E is between A and B,
point D is between A and C, ZEDF = /DFC, FC is not congruent to BF
Prove: /A is not congruent to ZEFD

19) Given: Points F, A, D, and E are all on the same line, point F is between D and E, point E is
between A and F, 4B is not parallel to CD, CD=BA, DE = ﬁ, CE and BF do not intersect
Prove: CE is not congruent to BF

20) Given: Quadrilateral ABDC with diagonal 4D, point B is between D and F, point C is
between E and D, BDPAC, BD is not perpendicular to 4B, ZECA is a right angle
Prove: AB is not parallel to CD




